
e5
0 

e.50
 

i. 50 

 295 

i.5
1 

E13 92R - 02 10390

90473e13

Pipe N° 1111
Cod.3015114201

Superior silencer
GP duals Øi 50
Cod.3015110481

Inferierior silencer
GP duals Øi 50
Cod.3015108482

N°4 Knurled 
collar screw
M6X16 T.E.
Cod.204985

N°2 Graphyte 
Gasket
Cod.204980

N°2 Knurled 
collar screw
M8X16 T.E.
Cod.206008

N°2 Short helical spring
tensile
Cod.303949001

Aluminium spacer
30X13X16.5
Cod.206307

Knurled collar 
nut M10x1.25
Cod.203039

Silencer bracket-INOX
Purch.Cod. 206353 
Prod. Cod.3015114501

Allen screw
M10X60 T.C.E.I.
Cod.204482

Strap-in stainless 
steel 53
Cod.300053530

PLEASE REMOVE THE ORIGINAL 
GRAPHITE BUSHING 

BEFORE ASSEMBLING 
THE LEOVINCE LINK PIPE!!

Stainless steel Bracket 
Cod.3015101501

10
4 

N°2 Db-Killer Ø22
Cod. 303430803
N°2 Db-Killer Ø22
Cod. 303430803

Art. 15114

KAWASAKI Z900 

Slip-on "GP DUALS" -  APPROVED 


	Foglio1
	Vista del disegno1
	Vista del disegno2


